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8-83. See below:

a.y=281.4(1.02)%, 310.7 million people

b. 343.0 million people

¢. 34 million people. Population growth has slowed.
8-84. Note that students are not expected to have a particular method developed to solve these yet.
Rather, they are expected to devise a method that works. They will most likely use some form of
substitution.

a.a=6,b=2

ba=2,b=4
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8-85. See below:

a.l= L-—’Z’W
=L
br=£

= 33V
cr=3ix

8-86. See below:

a. The data appears randomly scattered. There is apparently no association between time running
a mile and heart rate. Only 1% of the variation in heart rate can be explained by a linear
association with time running a mile. The LSRL is nearly horizontal. There are no outliers.

b. Answers will vary. Example responses:
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 D- Ran a fast mile but seemed to be giving little effort. This athlete might
already be in outstanding physical condition or have an attitude problem.

o F- Strong run and strong effort. Keep this player.

o N, O- Ran slowly and gave little effort. Along with player M, we do not
know these players® potential or motivation. Cut?

o P- The slowest of the group but with the highest effort. This player may
improve substantially over time.
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8-87.
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8-88. 4C = /58 units; the midpoint is at (3.5, 2.5)
8-89. See below:
a. sometimes true (when x = 0)

b. always true

c. sometimes true (for all values of x and for all y except y = 0)

d. never true




